W E X & E TS

MEAWN: REAFAF-REWE
BUH AL AMNTELFF
EEHIT: AMTHE R

2020 % 05 A



B
—. TEWEXFER

G RN ROV
(G R = e =2 K = OSSO
(DW= A= TSSOSO
CTD) T8 SZ A Rl oo e e e s e e e e e s es e eee e e e s e eeeeens
=, FEERERLHT
(G T =y ol AL SR
(G i A= i =
(2 R R R R B ARTG AR T oo,
=, k#EN
(=) 3 TLB B B IT AT ZE D oo ee e
(G O - - I
DI ENE: Y RN R e =5 TSR
(0 ) BT e e e e e e et e e s e eeeeeen
W& 1.8 AP MR




—. WEBEXRFR
(=) TE#R
ExRAFAAAHETRNTNRT, BF TEHEHFER, HHRA APP RGN A REEE KT, A&
. BEHFRE—HF, RIADFRREN SROCWERERERTHRERTY 2, REWKFTRERE,

() RexHdERER
1. #eZHEN

mH TR At W B F & Hfk &
At R & | XER | S4% /N B EgE | BTRRE | HEEA

TS 22 (1) 4554137. 30 |4554137. 3 4554137. 3 0
0 0

T H SR (2) 4554137. 30 |4554137. 3 4554137. 3 0
0 0

e[ DA (3) 4554137. 30 [4554137. 3 4554137. 3 0
0 0

PR (4) 4554137. 30 [4554137. 3 4554137. 3 0
0 0




Re A (5)=(3)-(4 0 0 0 0 0 0 0
)
TEPATER %) | (6)=(3)/1 100 100 100 0 0 0 0
)
FEBME % | (D=(3)/2 100 100 100 0 0 0 0
)
TaSLhr h®E | (8)=(4) /(@3 100 100 100 0 0 0 0
(%) )
2. ReBEREN
T X A FEWR (B T PSS SVl
Ait WHE L X HEK HA S X HEK
it 4554137. 30 4073719. 30 480418 4554137. 30
INAETHE 4554137. 30 4073719. 30 480418 4554137. 30




(Z) TEHEKER

1. B & BAF
2019 FAMTELPFMELHXELERTE 15T, Z%4 770 7 o

2. WEFESKER
1) FaBEFERE2%E 100%.
2) FaBEFEMLE 100%.
3) g RATERE A 100%.
4) BE&ERE. SHMLEERMLE 100%.

() TH EHITR
% BT X 2 7

Z. IMESMIER TR
GAEEEA. Pl KR, PHALETAEE, AHHBERELAA, RAFLILR: REALEH-



WEMMETE SR ETNER N LR 96.00 4, BT"HFE".

(=) 4% B % R M4
FERATE; RERH OB, FHELBGWR; MACEHAEAN, FLEAMNEE, WHESEHR
b MEEBEEEAY; SREEEEN, RENRER; FERKANY; BRAFEBEN; BHEZRN
B EH—f REHE BEREAL FHHETE; ARAFERE; FHELERER; HHEAE
SRR BEREARERLE, SEREZALE, HRTHEA; $EHEEE,; NEFREAEE,

(2D BF EREKEFHHEART
P& 2 2 R 7 S He =

(2) RERGEKERER R EEE
= BuHEN

(=) HH E EREHENEN
BEEBESMN, LA



(DX % & &l E R &8 &Y
il B & PR I T E By 2K

(=) #EHF
TR IR

(M) &%
fiz= 1. BV VRS iR

St

F

E
%E'

I B 2

Mtz 1. BIFES AR

—% =% X E N2 - L BAERB R FAA (H g LR E %
B/AT | AT | E | E | &F 7B &) Gl /o | WA E
BN
g H 20
R
5.
46
& 1. 10 10 1.82 W %




PATE 82 0% 0% 14 #
100% 7%
wa, &
K 1%
NI E 4
1 1%, $0
5 A1k

%
T B it
RS A&
57 8 EZE 145
o 30% X &
~ VA

waem | R

" 82 i R¥E 30% A E

9 4 A a, A&
AR TF TE3%
T B 40% I E
H o m 4o
GHE

&R




£ =

a4,

5

H 46 A7

LT

L ]

7 R
N2
' A
m 100% 4%
‘ fﬁﬁ: L. 10 10 W, &
/’jﬁﬁ@sz 0% 0% 1'825%155 1%
e BRE
B 1%, 40
A 1k,

5.
46

W% N & e A%
%f%ﬂﬁzgz s X% e  182EF1#
ek HHE 50%,




A
e
S
paing

o B R &

> A
mg -

o
PIS

oot X omf o B R A

I

&

A

oy I

e Al

[

s

S
S oA E S M B W K

S
SR

b

%

=P

e

A

#H

bali

L A

x

Il
i

£

ot 2

REZE
e — I
#e il
6.25%

10




n
i

R A
S ml
BEOR o =

=

= R AN =
g g m
= N

At
(o eft

G
Al
ad

T &
& 2
B %R
# /T
AT H
HY W 55
& 2
E

11




Ha
ERAFE
3

82

S

A

EER

A e
= X

> ST o4 O A oy HY
.. ><ﬂ_//1
¥ T EE B

|
Fai

& 5]
W2 %
A A
% &%
i B A
RA X
+ I K
& H
DI
A
7% 4 T
H#WmE
# & =k

1.82

A&
I MEE
& 20%#X
B, W
RBEZR
4 B 6k B
%5 A%
A &

é]o

12




A AL
1
# I
B E
AT X
Z i3 iF
&k
ik 5 W
R
Ok &
H T
B R A
12 5 fu
Fau

it %

BEHH

3

82

il 2 =k
B A M
RL#9
% I 1=
ol
KB T

1.82

N2
R RE
wa, B
P 1 4o
WE L1
33.33%,
m T A

13




Rz
T 4t
Zuw K
24

B, At
e
A AT
=
%7 B
AT A
A &
#, U
&=
RAZE

7 IE

1E, 11111

28

3H
& B E

e

(-4

1.82

N
fEHh 3%

14




ot B 4 B, &
K # 7 B, 1 4
3 RE A
WO 13, 415%
T Ak,
% 5
T
T
% 5
N
/5\
Bl & A
a iy
i e s s
NG B -
TEES R 182
" &2 R 6.25%, £
. EEED
TR =+ 50%
Bl %7
R

15




16




47
1 % Ay

B

R =
A

% =
e
5

T | S

®
e

AN A

e -

b= I = Y

=N

E Sk & A

B
> S o N S S N 9

17




N
A 18
=
& W 4%
o] A2 R EHh 48
S %ﬁﬁﬁ . &
T S P e I
2 58 B 4
E #AT # 1/4, 4o
G EHL,
B A
B &K
oail)i3
% W %
e 7 EH3E
H %mﬁ\ M #Ha, &
%%%ﬂ?’igz - (ERC 1.82 P& 1% 1 3m
" 2. 5 BB 4
#o R 1/3, 3%
W 5 H 1k

18




Xt
4T B
i A W %
Bt EHN 475

B A A Hwa, &
’ﬁf?%ﬁg ' EHE 18 B K1
& x AT G, 4otk
% & 1/4 # &
X Eo
= AT




%

£
¥ B
E1E A

=Rz

=

40

36

Ao
=

B2
Zsie
i

4.0

i# 5|
R 67
o5
B, Kk
]

0 4~

—

&l

4.0

ik 3|
B AT
YERT R
-, Rk
B AR

0 4~

R

HE

4.0

i 2|

HAF B AT

20




4%
e
%E

AR

0.0

i# 5|
S £ A7
o3
b, Kk
SR

0 4

e

&R

20

4.0

i# 5|
EX
o5
b, Kk
Bl A

04

e
4
X mE
N 2

4.0

i 3|
EY TS
B
2, ki

Bl R e

21




04

4.0

i# 5|
EX
o5
b, Kk
Bl A

04

4.0

ik 3|
= A AR
YERT R
-, Rk
B AR e

0 4

g
5 Ak #

4.0

i 5|
S £ A7
e B 18
B, Rk
B AR

0 4~

10

4.0

3

22




P A 0% |7 R AT
1 W BT 12
a, ki
AR
0 4~
0
0
e
B 30
B A=
0
15
ik 3|
U\/‘_\kA/’\
o . iiuﬁ
‘ 7. 10 ik o B AR
GRS _ 7.5 \
ganzl [ |F i
R
0 4~
Ik 3
‘ \ 7. 10 ik R AT
e B AR _ 75 [, 0
o 5 0% |br AT
a, ki

23




0
15

ik 3|

B A AT

#HER 7. 90 ik 75&%%%

THEE % | e kB

Ealp s

0 4

ik 3|

B AR

2k 7. 90 ik 75@%%%

HEE % #r T, ki

Ealp s

0 4
v
i 10
71 H %

10

T E 7 ik ik %

_ 10| ) 100,

Ja 42 in T A AR B A AT

24




%R

2 e B 17
Elp bt
0 4
0
0
0
0
0
Mt 10 96.0
iy 0 P

25




26



